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31
Moct Test‘ SOLUTION
I—
1. (O X ) =40 +3 x 13 =25
Q =40 +39 — 25 =54
| 9.B) 18x.5=9
E H—R" 9x1=9
‘ 9x1.5=135
G—A—B 13.5 x 2 =27
G's gender is not defined, so G is either R's 27 x25=675

nephew or niece.
2.(A) 48>39$3<7%5=?
48 +39+3-7x5
48 +13 - 35=26

3. (B)

Only II follow.
4.(A) CAT - (3+1+20)/3=24/3=8
DEAF - (4+5+14+6)/4 = 16/4 = 4
Then, FED - (6 +5+4 )/3=15/3=5

5. (D)

6.(C) 8x2+4=20
20x2+8=48
48 x 2+ 12 =108
108 x 2 + 16 = 232
232 x 2+ 20 =484
7. (A) Total students = 27
A's position from the bottom = 4%
Position of A from the top = 27 — 4 +1 = 24
Now, C's position from the top = 10®
Position of B from the top = (24 + 10)/2 =17%
8.(C)40A48C 16D 13B25=7
=40+48+ 16 x 13 -25

10. (B) The numbers in each column follow the
pattern 4, 3, 2.
In the first column =48 +4 =12, 12+3=4, 4:2=2
In the second column = 72+4 =18, 18+3=6,6+2 =3
In the third column =120+4 =30, 30+-3=10, 10:-2=35

1 gm A7“1
11.(C)
42

Middle person = Total — (Left + Right)
=42-(17+7)

=42-24

=18

C -56, 68, 79, 87, 95

E - 57, 65, 78, 89, 96

S —01, 14, 22, 30, 43

A —-04, 12,20, 33, 41

12. (A)

13.(D) Starting point/

14. (C) Ganga > Amrit > Mecher > Sameer > Poet
15. (A) Ganga > Amrit > Mecher > Sameer > Poet
16. (D) REST (T is not given the word)
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17. (C) After observing the given question figure
carefully, we get
(@ is opposite to =
? is opposite to $
# is opposite to %
Since, the symbols which are opposite, they can-
not be adjacent to each other.
In option C '?" and '$' are opposite to each other,
so they cannot be adjacent to each other.

18. (B) The pattern is:

49+ 8 =157
57+3=1
19+8=27
27+3=9
9+8=17

19. (D) Except for the fourth option, the sum of the
marks in all the other options is 17.

20. (B)

The triangles that we get from the given figure
are,
ABC, DEF, AJK, KEL, CLM, FMN, BNO, DOJ,
ODG DGJ, IKE, IEL, HMF and HFN.
Thus, we get 14 triangles.

21. (A) The series will be,

C +5 ‘"‘H +5 ‘*M +§ R
-Idn__“ -I%z

u + =Y +i = C

N -hﬂ«._R

Hd- G

Thus, CNY, HRY, MVC, RZG

22. (D) As stated this year a heavy rainfall is expected
and from these heavy floods can also be
anticipated and due to this a huge damage to the

property and people is natural therefore the re-
lief program and awareness campaign is the cor-
rect course of action.

23. (C) According to the given information;

Clearly, C is facing E.
Hence, option C is the correct answer.
24.(D)2,1,3,4
25. (A) Pattern is:
7°+ 8= 113
112+ 122 = 265
So, 14>+ 9= 277
26. (D) The pattern is:

116 128 146 170 200 236)
| t+1) | (a8 | 24 | te30) | (e38)

|"‘67 | +H +5 +6

So, the missing number is 236.

27. (A) As it is mentioned in statement I that “we are
going back again to our ancestors and finding
out the importance of Yoga Pranayam’ implies
that ancient science is the treasure of many cures
and natural remedies of various disecases
otherwise we won’t have gone back. Also as
people in the west have opted it shows that
ancient science is helpful. But as people are
opting for ancient science and yoga more and
more now a days, we cannot say that modern
technology has overshadowed these ancient
sources. Thus only conclusion I follows.

28. (B) The pattern is:
RH)=T,TH+2)=V.V(+) =X
C(H2)=E,E(+2)=G, G (+2) =1
So, G is the missing letter.
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29. (A)

)

Conclusions:
IV. Some farm-houses are fields — True, it is a
definite case.
V. Some gardens are fields — True, it is a defi-
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I—

1. BPH5)=U,UHDN=Z ZH5)=EE@5=]
SH)=X.X#5)=C,C#5)=H H#*5)=M
VH#35)=A A#+5)=FF#5)=K K (+5)=P

2. (A) Pound and yen are currencies of different
countries. Similarly, polo and hockey are names
of different games.

3. (A)/lx|CF J :E|(|}JN o H(NR :W

e

) )
¥ e

4. (A)2+4+3=9
8+1+9=18=1+8=9
1+6+3=10=1+0=1
4+8+7=19=14+9=10=1+0=1

5. (D) Ranchi is the capital of Jharkhand and rest
are the districts of Rajasthan.

6. (D) In this question, we show that 'P@Q' means
P is the father of Q, 'P*Q' means P is the mother
of Q, 'P&Q' means P is the brother of Q and
'P%Q' means P is the sister of Q. the expres-
sionW@V&T%Q-

TH = Mother/Father
= Brother/Sister
Vi +—> T- +—+Q+-
+=Male
- = Female

W is the father of Q.
7. (A) COMPARE is written as 3479186,

COMPARE

i

3479186
CONNECT is written as 3455632,

i

WO
W

SOLUTION

So in COMPACT is written as —
COMPACT

L

3479132
COMPACT is written as 3479132.
8. (D) The parts of the computer are CPU, RAM,
mouse etc.
RAM is inside the CPU.
The mouse is outside the CPU.

9. (D) From the information given in the question,

Rohit"

Priya”

Riya——Richa ——Wahid"

Priya is the mother in law of Neha.

Neha™

So, the correct answer is option D.

10. (A) PENCIL => QGQGNR

P->Q (next letter)

E->G(one alphabet omitted)

N->Q (two alphabets omitted)

C->G(three alphabets omitted)

[->N (four alphabets omitted)

L->R (five alphabets omitted)

like that,

CIRCUIT will be written as DKUGZOA.
11. (D) Given:30 +2-10 x 6 + 5=35

After converting the signs (+ and x) we get,

30+2-10+6 x5

15 -10 + 30
45 -10
35
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12.

13.
14.

15.
16.

17.

18.

(C) TItisgiven that: A+ B means A is father of B.
A-B means A is sister of B. A * B means A is
brother of B. A % B means A is the son of B.
Therefore, the expression T% S * K + D-M can
be represented as in the figure below:

Brother
s ———————— KM
soil daughter
T D—M
(-) sister
cousin

From the above figure, it is clear that T is the
cousin brother of M.

So, the correct answer is option C.

(D) If both caurse of action I & 11 follow.

(4) F321+#4—2M

M+3—=P+#4—T

Similarly,
T+3W.
(D) Neither I nor II follows.
©) As,
96 + 3 =32,
Similarly,
48+3=16
(A) 567 -3 =189
189 +3 =163
63 +3=21
21+3=7
(A) Logic :
Row 1:
25 x 41 - 500 = 1025 - 500 = 525
Row 2:
19 x 38 - 500 = 722 - 500 = 222
Row 3:

29 x 47 - 500 = 1363 - 500 = 863

19. (D) Given series follows the pattern given below:
First letter - R+2 —> T, T+4 — X, X+6—> D,
D+8 > L
Second letter - N+3 — Q, Q+6— W, W+9 —
F,F+12 >R

20. (C) Logic :

Column 1:
13x7=91,9+1=10
Column 2:
19x4=76,7+6=13
Column 3:

23 x9=207,2+0+7=9

< <> <>

21. (B)

Fig-1 Fig-2 Fig-3

3 is common in fig(1) and fig(2).

Therefore, the sides 6,1,4, 2 will be consecu-

tive side face of the side 3.

So, the side 3 will be opposite to the side 5.
22. (D) Refer to the table below :

Symbol X - + +

Meaning + + - X

250 +2 -5 x25=7

After changing the symbols,
250 x 2 +5+125

Applying BODMAS we get,
=250 x2+5+25

=500+~ 5+ 25

=100 + 25 =125

23. (B)

" read

Only II follow.
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24. (D) As, 142 -100 = 96, 96*2 = 192 28. (O)
Similarly,
122 - 100 = 44, 44*2 = 88 A A A A
25.(0) As, Symbols + + -
212 -200 = 441 - 200 = 241 B B B B
Similarly, meaning  Son  Father  Daughter Wife
332 -200 = 1089 - 200 = 889 )
26. (B) The expression P x Q — S x R draw as —
lﬁ'sl'
+2 +4 +6 +8 R
H ¥ T D
l l)< l - S+
] Z c L Q
Similarly,

+2 +4 46 +8

R C 0 P

T u G X
Thus, HYTD : JZCL :: RCOP : TUGX

27. (B) Lokesh > Gagan

Lokesh > Abhishek
Abhishek = Suresh
Lokesh > Abhishek = Suresh
Lalit > Lokesh

Lalit > Lokesh > Abhishek = Suresh
OR Lalit > Lokesh > Gagan

So, clearly P is the grandson of R.

29. (B) In all other numbers, the multiplication of

the digits forms a perfect square.

However, in 223 =2 x 2 x 3 =12 (not a perfect

square).

Hence, option B is the correct respon

30. (D) Except SVX, the first letter moves 3 steps
forward to give the second letter which moves 3

steps forward to give the third letter.
Hence, 'SVX' is the odd letter group.
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I—

D) Py ——Qp

R Sa

Ty ——=Uy

“"’ a.}
P is maternal grandfather of V.

A [ ]
H<- N
[a]m]<«>[1]e]

15" 18"
Mohini

15"

«—]

Mohini
(after changed position)

Total girls = Left + Right —1

18 + 15.

Data insufficient.

(C) Chiku, Chiku, Guava, Guava, Mango, Mango,
Chiku, Sitapal =4

It series repeat three times

(D)

Raveena

Remaining position 6.
6 possition is mango plat

Last plant is mango = 30%

(A)
N Left Hand

Sunlight
— Magk | ghadow
= W E

9
Rays

Mgt | Shadow

S Right Hand
< Y

SOLUTION

10.

11.

(B) )
K S90°
«.N\‘ 90° 2
~ North-East
A T
(B) KNOWN GIVEN
) |
2441 =3
PPQYM PKXGI
B
®) Red
Black
Green‘_\
» Green
Red €~
v
Black

Atlest one face coloured with Red colour
=16 x 2 —common cube = 16 x 2 —4 =28
(O)E=55%x2=]

8§ x3=24

1x2=9x2=18(R)

C3D = F9H
© FBMA IXNW g, PBSQ SXUM

oL 27 LIl 47
”n ”
Reverse letter Reverse letter
4 4

(B) Given:

8765 : 11 ::9252 : 73 ::4397

8-7 6-4 9-2 5-2
A B
1 1 7 3

Similarly, 4-3=1 and 9-7= 2
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12.

13.

14.

15.

16.

(A)

Computer hardware

Keyboard

O— Operating system
Monitor
(B) R<V=F<N>C>K=Y<M=W
I. C <R (False)

II. W> K (True)
(A) Here the logic taken according to the

columns
(Tx4)+(2x9)+3x2)=28+18+6=752.
Similarly,
(Gx8)+(6x2)+(1x7)=40+12+7=59.
(A) The full range will be:

WS / Wwss / WWWSSS / WWWWSSSS
(D) In this question, we show that —
M is between R and S and is facing North, T is
to the immediate right of S.

=== Facing South

H—I—' Facing North
R M s T

T is opposite to Q who is to the immediate left
of N.

pfemfed Facing South
N Q

=== Facing North

R M s T
O is between P and N.

I—*———'—-{ Facing South
P O N Q

l‘—l—H Facing North

RM s T
pair NS has the person sitting opposite each other.
So correct answer is option D.

17. (A) 95, 00, 33, 79

18. (A)

OUT C OME

+&4/ +2l/ +3l +2l +2l +2| +0

OQWWEQ OE

19.

20.

21.

22.

23.

24.

25.

Similarly
RE FRACT
+(24/ +2 +3| +2 +2l +2 +0l
RTGI TCET
(D) From the given options,
7856 - 7x8 - 56
8324 -8x3 - 24
9545 - 9x5 - 45

7647 - 7x6 - 42 which is not equal to 47

(A) Odd D
ays
fawe fa=

Ordinary Year— |1 Jan. 2018 1

1 Jan. 2019 ——>
1 Jan. 2020 —>
1 Jan. 2021 —>
1 Jan. 2022 —>
1 Jan. 2023 —>
Leap Year — 1 Jan.[2024]
* When we move ordinary year to leap year

1 Jan. to 28 Feb. calendar will be repeat.

7 odd days

(R S

(C) The hour hand of a clock makes an angle of

1/2° in 1 minute.

So in 40 minutes = 1/2 x 40 = 20°
D)

North
West East

South

So he is facing now in south-west direction.
(C) In mirror image, left side goes on right side
and right side goes on left side.

e

The question figure is hidden in option (C)

©

figure.

D

When unfold the paper the figure is shown as.

(D)
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26. (C) 142 :29 :: 156 : 92
12+42+22=21
1x4x2=8

Total = 29
Same as
124+ 52 + 62 = 62
1 x5x6=30
Total = 92

27 B) Eriend is hu(ip ma

are —>kit

[man|never clever —> fi ti gi

None conclusion follows

29. (B) Conclusion I is not appropriate as nothing

is mentioned in the statement about Company
X not hiring people from any other profession.
Conclusion II is correct because Company X

need Software Engineers.

30. (A)

¢ D E F
AIDM, AMDE, ALME, AJHK, AHKG, AGKL,
AIDE, ADLE, AJTHG, ALHG, ABIJ, ABCD, AHEF.
ADGF, ABAG, AHIE, ABGD, AACF = 18

= Steps = WA -
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1. (D)

34
Moct Test ‘

T —

15 = 2%8 -1

59 = 15%4-1

117= 59%2 -1

116 = 117*1-1

?7=116*0.5 -1

Therefore next term is 116 * 0.5 -1 =57
(A) Tt is a double series,

26, 138, 29, 142, 34, 148, ?

29-26 =3
34-29 =5
?-34 =7

and the second one
26 , 138, 29, 142, 34, 148, ?
142 -138 =4
148-142 =6
Therefore 7=34+7=41
(A) + 4 series
(C)5+4+0=9
9+8+1=18=1+8=9
1+4+5=10=1+0=1
7+8+4=19=14+9=10=1+0=1
(A) From the first statement :
A>B>C
From the second statement :
A>C>D
From the third statement :
C>E>F
From all the statements the exact arrangement
cannot be determined but it is clear that A got
the highest marks.
(D) Tiger woods is a golf player and rest are
famous cricketers.
(A) +3 Series except option (a)
(A) 1. Galaxy — 2. Gallon — 3. Gazars —>

4. Grazed — 5. Grumpy

SOLUTION

10.

11.
12.

13.

14.

15.

o
P

Q<—>1I
\\)S
From the given data, we cannot identify the
gender of ‘S’. So, we need more data.
B)
9km X
4km

Gkm

5
He is in south-west direction from x

(C) Multiplying by 2.5
(C) Aktar — 5 letters
Farhan - 6 letters
Rastogi — 7 letters
Silencer — 8 letters

-1 =1 ~1 -1

T Tl

RQ P K )1
|

(A)

(A)(7+2)x4=36
(10 +5) x2=30

(20 +5) x 6 = 150
(C) 14 : 112 :: 18 : 180

14
7=7,7+1=8X14=112

18
Same 7=9,9+1=10X18=180
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16

17.

18.
19.

20.

21.

22.

. (B)

15"
Ruhani |

18"
4 girls between Malaika and Ruhani

minimum numbers of total girls
=L + R - 2 — (middle person)

=15+18-2-14
=33-6
=27

(C) Let age of Rohit = x

According to questions,

Ageof Aman=x+3

Age of Suresh=x+6

Now, Rohit and Danish are twins.

So, age of Danish = x

Suresh is 6 years older than Danish.

(D) If both I and 1II follow.

(O)Rowl:3+4+1+7=15
RowlIl:1+8+9=18
Rowll:5+4+2+7=18

(D) Given series : 28, 33, 31, 36, 34, 29

Logic:(+5, -2, +5, -2..s0 on)

So,

28(+3) = 33

33(-2) = 31

31(+5) = 36

36(-2) = 34

34(+5) = 39(but 29 is given)

So, 29 is wrong.

(A) Logic : here the elements * and + moving

one place clockwise in each step.

After carefully observing the figures given in

the question, it is very clear that the answer

figure (A) will be the next figure.

D)
(=

23.

24.

25.

26.

27.

28.

(D) Here the correct repeating pattern is : nbkl
So the completed series will be : bpnlk/bpnlk/
bpnlk
(C) As it is punched in a book-folding manner
and then again it gets punched. So, when we open
it up there will be figure as shown in option (B).
(D) As,
The pattern is as follows:
(12 x 2)2 = (24)* = 576
Similarly,
?7=(8x2)=(16)*= 256
So ? =256
(D) 12:576 ::8 : 7

12 x2 =24

(24)* = 576
Same as

8x2=16

(16)* = 256

©)

Alphabet A
Position value | 1
Alphabet Z
Position value | 26

< |0 |

13

>x|wlo
<|uv|im
o
el 1 (2]
o
w
=
o
=
-
-
~

N
o
[
s

D=|s|o
~
N
~
=
~
o
-
w
-
-]

17116 15| 14

C+X=27

U+F=27

R+1=27

I+R=27

N+M=27

G+T=27

Therefore, L+ O=27, A+Z=27,T+G=27,
E+V=27L+0=27andY + B =27

®

Letter a b ¢ d

Meaning + - X +

After putting the symbols,

18 +2 + 10 — 5 x 3 (applying BODMAS)
—>9+10-15

—>19-15

—4
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29. (A) - From the given information given in the

B question, it is clear that B is the grandmother
{} of A.

C 30. B)Row1:5°-32+1=125-9+1=125-8=117
Row2: 43-22+1=64-4+1=64-3=061
Row 3: ¥ -7+ 1=729-49+ 1= 729 - 48
A =gt = 681
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35
Moct Test ‘
I—

1. (A) All potatoes are vegetables but plums are en-
tirely different from them.

S]©)

2. (B)
T—73:
R——3
E—4
K 6
And,
F——
A—10
M — g
| —1
L ——7
¥ —35
Using the numbers from the above letters as
code we get,
R 3
E—4
A 0
L—7
| —1
T—3
¥Y——5

So, REALITY = 3407185,
3. (A)

Triangles are:
ACE, ABE, ACG AEH, AGE, BCD, BDE, HFG,
HEF, BCE, HEG ? 11 Triangles.

4. (C) In a plane mirror, a mirror image is a
reflected reproduction of an object that appears

SOLUTION

nearly identical, but is inverted in a direction
perpendicular to the mirror surface. is formed
as a result.

[¢] (0]

o /IR

B

Hence, option C is the correct mirror image of
the given figure.

5. (B) From the given figure we can say that,

Single dot and 5 dots will be on opposite faces,
X and ? will be on opposite faces and

Double circle and # will be on opposite faces.
Since, opposite faces cannot be on adjacent
sides. Therefore, the cube at option B cannot be
formed by folding the given figure.

6. (A) Looking carefully at the given four
options, it is clear that the option figure (A) com-
pletes the given format in the question. The com-
plete figure will be as follows.

7. (B) If figure B rotated by 180 degree clockwise
then it perfectly fits the figure pattern.

A A

v v

Thus figure at option B completes the pattern in
the question figure.
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8. (A) If only course of action I follows.
9. (B) In this question, we show that the figure is

given below —
F
A : B
L
I K J
c D
G H

We know that every square is rectangle but ev-
ery rectangle is not a square.
After observation the rectangles are —
ABDC, AELI AFKI, ABJI, AEGC, AFHC, EFKL,
EBJL, EBDG, EFHG, FBKJ, FBDH, DJKH,
DJLG DJIC, HKLG, HKIC and CGLIL
So total number of rectangles are 18

10. (D) Just as,

C R 0 w N
+1 +2 +3 +4 45

VL

D T R A S

And,

B L E A K
+1 42 +3 #4445
C N H E P

Similarly,

S T U M P
+1 +2 +3 +4 45

VL

T vV X Q U
Similarly, STUMP is coded as TVXQU.

11. (C)

Shining
Camera

12. (B) logic: square of the second digit = first digit
So, 532= 2809
Similarly,
322 = 1024
13. (D) Logic:(place value x 2)
So,P=16x2=32

E=5x2=10
N=14x2=28
Thus, PEN = 321028
Similarly,
T=20x2=40
U=21x2=42
B=2x2=4

Thus, TUB = 40424,
14. (C) Logic:
54 4=25+16=41
9%+ 11= 81 + 121 = 202
152+ 6%= 225 + 36 = 261
15. (A) After carefully observing the figures given
in the question, it is very clear that the answer
figure(A) will be the next figure.
Logic:the arrow is moving up-down and chang-
ing its direction, while in the figure one side is
added to obtain the next figure.

16. (B) 1 and 5 are adjacent sides of 6.
So 3 is opposite to 6
Hence, option B is the correct answer.
17. (D) The correct mirror image respect to verti-
cal mirror on right of the given picture is the
figure of option D.

M

E LML 3
A O[O A

N

18. (A) (logic : 12 x 12/2 = 72),
(22 x 22/2 = 242),
(18 x 18/2 =162)
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19. (A) - .,

12 triangles in all; EFM, FMG GMN, GHN,
HNI, LMK, MNK, KNJ, FAK, HKD, GLJ, and
FHK.
20. (D) The paper is unfolded in two steps-
Step 1-

- o oy

N
ZENY

Step 2-

N
7

21. (D) Pattern Follows here:
O-3=L
B+1=C
L-3=1
C+1=D
I-3=F
D+1=E
22. (A) NEATLY (E isnot given in the word)
23. (A) Pattern follows here:
55+3=158
58 +6 =64
64 +9=73
73 +12 =85
24. (D) All mothers are females and some females
who are mothers can be Police officer.

Hence, option D is the correct answer.
25. (C) Logic:
87 +1=288
88 +2=90
90 +3=293
93 + 4 =97
26. (A) Father of Priya’s father means grandfather
of Priya. Sudha is the daughter of the wife of
Priya’s grandfather’s only son, i.e., father of
Priya.
Therefore, Sudha is the sister of Priya.
Hence, option A is correct answer.

" @

28. (D) Symbols + =+ x -
Codes + X -+
529 +23-10+5 x 4=
According to BODMAS rule
?7=23-10+5x4
?7=23-10+20
?7=43-10
?7=33
29. (C) 25%x22=55&55%x24=132
Similarly,
35x22=77& 77 x2.4=1848
30. (B) By checking Option B,
7+3+5-35x5=15
After changing the symbols,
7+3%x5-35+5=15
7+15-7=15
22 -7=15
15=15
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